. . : 3B
Reverse yo Wroge across drades — ith Ril+er @

’ '3 ~ -
e +
Herels a cirew Reca
@ { @ The owtpuf veo H‘Oge. b5 (i«dck@)
Vs

The vp ltege acnms the diode 15!

(V- D)
Tha peal woltage
acwes Fhe didde 5
5 fwice the
o= dq(fvemﬂ
VO Umje.
L =2Vp

T(.ufrCQ w hat 'P'f'
was wAth no cepacitor

W hat aboout Pull waw,?

br{ége ?




Desioning & power supply 2

@ Pick a 'f'bfology

@ Dedermine VM, Vi

ffom $5pecs,

(3 Take V, -
Add Us Hoge (ot yn dipdes,
@ Aéd -}"Vi\hsﬂorha?r foss .
(_(r’ke a V‘e.S"Sf&nCE’)

2 This s pesk Secondary
o H‘O?e_

@ Comvert o KMS
H: heetleo(-

(depends ow specs)

@ Calculate turins patio

Vsec Vo'
Vort 0 Veee

Express s n ol (%‘;i.)
or | 5N (Skerup)

@ Determine capacitor value

@ Dedermine  voltege  power,
Cuvrent vafirgs of
COW‘-POV\QK\'SA



E){amg)z @
\/0\/\ v < d.e. Si'qr\l'laa G I?owey Sqrpl\{ Lo he L\fq\’\ VOH'GQQ

On a Cathode oy tube .

\ N

/D\w‘ Power Sowuyee 5 7 volts AC (FO Vo HS FC&L’)

20 ¥hez
The supply musk deliver 20-2S EV.
(95 Fv mox , LOEV min, 5 KV hmax r}pyle)
Witk o loed carrent of lme.

Acsume a L0 volt dvop in The drode-
(r+ 15 redl\i 6 diodec In serfeg,)

Choost & +opolegy .
Thew fredl TaYis ratio (’P“ [ SCC)

Capac(hw‘
VDH?’ﬁé rating of dyode
Pew k drode Current

A\/e\/«g( P(l'mar\/ cwrew}'
fo\,/(r i{\l‘ver’ed Yo los



Topology '  hal fuwave,
3? %,Jj‘_j

Power de]weveol g f[ood:
@skY) (1 me)
25 waths

/ﬁ\\/{ﬂtjﬁ PV!'*V*GJ'\, Carrent
(1 me) (2500)= 2.6 A.

pccth diode Cuarrent.

Q= ¢V = (0" )5 x103)

- 50 x o7
= TTp= (107 Xs0 ¥ig*)
= 60 w7
‘jz—vr X)(5)
At= VM \i X
- ’Z‘n‘(’.’.olc)
(o
K3 .63
| 26 ¥o* 7 126 W
= 5 %o? =5uS
— q _ 50‘!-1()_‘i
leep™ FEL T B Yo
= lOlm& Cava
wkc»oo\)

Vewp 2 20 e,
peat

<)

r{)hom (0 volt diode loss.

V= 25 kV
V.= 20¢EkvV
\/ 5 ¥Kv.

LCJ\«orQ ‘l‘rohsﬁdvm&w resistance .

25000

TlAms ratio = % - 2500
| % 2500
; Capact'i’or: _ T
! Uy f
- %1073
(5 x19?)(2 xro“)
= 10 «x 0"
= 10 pf
Vo Itose ratig of divde!
o KV.
( 0 S KV du'odes)

%
|
|

|




\)0“\"@6 ,hn“\h"?h((.“jm circwits (2.a.4)

Vo 5age  dou blev
R
D,

FAEXEN

Neg atve hatf cycle=
DI Is on. D, 15 off )
Cy C\r\oqcs to tha Peak Vo H"\‘jC.

Positive half ey cle

Di is o ff Dz s on ®'l +@ -
Sinee Cr (s choavged
pnd TR (s AC Ceupled,

Tha P“‘k vOH-ngc s furice
fhe Thput peak-

Waveborrs :
B ®
The book’s civewt ) % .. .
Move C) D2
C
% ~ p
% ) N D, A
move C2 D 7

El




Hi Ghev Vo_lﬁzﬁes c

I.} \\5 AC CO(&P‘CA /QO y(_)u Can r\tFCQj-i

Used when you
need a high

Vo H‘Age at

IMJ Cayremt .

ycm don + even, need a trunsformer

QGOVl
> 330V
[ A0 voiks (Rms)
AC
—
The book's Circwt — awnother View

v Classic ha ¥ wave

vec Hifier ¢ £ilter
Mouve the gywul Russ

Co I+ is all PQS{-HVQ_

L
‘V—Ka awno¥her La,\chn/e

—

K1

/DTc;vaHrajq”. H’“l‘f +he VOH“*ﬁQ across C2

Diﬁaafan“‘age,r TL\L ‘f"V’Oks-‘:orh\e,y ?[Da.‘..s‘



